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EXAMPLES ON CHAPTER lil.

dy\2 d
%ﬂ(l) - 23!!%'1" 23 —22=0,

dz
2. y=p(z-0) +§. - 6. ayp’+(2z-b)P-—y=0.
3. Z(p?+2)=2p8 + 2%, T ¥—pr=V1+(a* + ).
& y=—zp+oipt 8. (zp—y)*=a(l+p?) (2 +y9)%.
5. 7 —9p +18=0. 8. (xp—y)’=p’—2gp+L

10. Sp%? —2zyp + 442 — 22 =0,
11. (2 +y9)(1 +p)’—2(z+y)(1 +p)(x+ yp)+(z + yp)2 =g,
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12. (py+nx)?=(y2+n2?) (14:p?). 1
16. (pﬂ_ : 2)(;)— ):o.
18. y*(1—=p)=0. Sa
P

- = h2p. 17. x4+ -—"—=g¢a
14. (pz—v)(py +2)=hp | Viipe
6. p? 4 2py cot x = 92 18. y — 2px = f(xp?).

19. 2yp? + p(3x%2 — 292)— By = 0.

20. p —4ayp 4 8y%2=0.
21. p* —(2® + zy + y?)p* + (2Py + 2% + 2y®)p — 2% =0,

NI

22. p* + mp* = a(y + mx). 2. y—(1+p) =0
i - 3e2y = 0.
2. e=(p ly)4+P e 2 26. y=pr+7-
. Y \pe_o¥%p ¥ '
24. (1 y’+z,_,_)p 2%P+$2—0. 27. y=2px+ y*ps.
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